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3. Social exclusion denies certain individuals the 
(a) facilities   (b) benefits   (c) opportunities (d) all the above 
4. How many people in India live below the poverty line? 
(a) 30 crores   (b) 26 crores   (c) 28 crores   (d) 24 crores 
5. Which organization carries out survey for determining the poverty line? 
(a) NSSO   (b) CSO    (c) Planning Commission  (d) None of the above 
6. Which social group is most vulnerable to poverty in India? 
(a) Scheduled castes  (b) Scheduled tribes  (c) Casual labourers   (d) All the above 
7. Which two states of India continue to be the poorest states? 
(a) Madhya Pradesh, Jammu & Kashmir   (b) Uttar Pradesh, Uttarakhand     (c) Orissa, Bihar  (d) None 8. 
Poverty line in rural areas is (As per 1999 – 2000 prices) 
(a) Rs 328   (b) Rs. 370   (c) Rs 454    (d) Rs. 460 
9. Who are the poorest of the poor? 
(a) Women   (b) Old people   (c) Children  (d) All the above 
 
10. What is the poverty ratio in the state of Orissa? 
(a) 50%    (b) 47%   (c) 60%    (d) 57% 
11. In which state has the high agricultural growth helped to reduce poverty? 
(a) Jammu & Kashmir  (b) West Bengal  (c) Punjab   (d) Gujarat 
12. In which state have the land reform measures helped to reduce poverty? 
(a) Tamil Nadu   (b) Punjab   (c) West Bengal  (d) Kerala 
13. Which state has focused more on human resource development? 
(a) Gujarat   (b) Madhya Pradesh  (c) Maharashtra  (d) Kerala 
14. In which state is the public distribution system responsible for the reduction in poverty? 
(a) Andhra Pradesh  (b) Tamil Nadu   (c) Both (a) and (b)  (d) None of the above 
15. What is the main cause of poverty in India? 
(a) High income inequalities  (b) Less job opportunities  (c) High growth in population  (d) All of these 
16. Which of the following is responsible for high poverty rates? 
(a) Huge income inequalities     (b) Unequal distribution of land  
(c) Lack of effective implementation of land reforms   (d) All the above 
17. In rural areas, which of the following are not poor? 
(a) Landless agricultural workers  (b) Backward classes  (c) Rural artisans  (d) Medium farmers 
18. Nutritional level of food energy is expressed in the form of 
(a) calories per day  (b) wheat consumption   (c) rice consumption per day  (d) none of the above 
19. As per Planning Commission, minimum daily intake of calories for determining poverty line for rural area is 

(a) 2100   (b) 2400    (c) 1500    (d) none of the above 
Q.20. Poverty ratio in India as compared to Pakistan is 
(a) same   (b) half     (c) two times    (d) two and a half times 
21. What are accepted average calories required in India in urban areas?  
(a) 2100   (b) 2400    (c) 2800    (d) 2500 
22.Which one from the following is considered as poor?  
(a) A rich landlord  (b) A businessman   (c) A landless labourer   (d) A teacher 
23. Which among the following is the method to estimate the poverty line?  
(a) Investment method   (b) Income method  (c) Capital method  (d) Human method 
24. Which state has the largest percentage of poors in India?  
(a) Bihar   (b) Orissa    (c) Kerala    (d) Punjab 
25. When was National Rural Employment Guarantee Act passed?  
(a) September 2005  (b) August 2004   (c) May 2009    (d) None of these 
26. Who advocated that India would be truly independent only when the poorest of its people become free of human suffering ?  

(a) Mahatma Gandhi  (b) Indira Gandhi   (c) Jawahar lal Nehru  (d) Subhash Chandra Bose 
27. Which of the following programmes was launched in the year 2000? 
(a) National Rural Employment Guarantee Act   (b) Prime Minister Rojgar Yojana 
(c) Swarna Jayanti Gram Swarozgar Yojna   (d) Pradhan Mantri Gramodaya Yojana 
28. Who do not come under the category of urban poor?  
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(a) The casual workers  (b) The unemployed   (c) The shopkeepers   (d) Rickshawpullers 
29. How many percent of Indian people were poor in the year 2000?  
(a) 36%    (b) 46%    (c) 26%     (d) 29% 
30. Which scheme was started in 1993 to create self-employment opportunities for educated unemployed 
youth in rural areas and small towns? 
(a) Prime Minister Rojgar Yojana    (b) National Rural Employment Guarantee Act 
(c) Rural Employment Generation Programme   (d) Swarnajayanti Gram Swarojgar Yojana 
31. For how many days MNREGA provides employment?  
(a) 70    (b) 80     (c) 90     (d) 100 
32. Which one of the social groups is vulnerable to poverty? 
(a) Scheduled caste  (b) Urban casual labour   (c) Rural agricultural households    (d) All the above 
33. By which year governments are aiming to meet the Millennium Development Goals including halving the 
rate of global poverty? 
(a) 2011    (b) 2015    (c) 2045    (d) 2035 
34. Which one are not the major causes of income inequality in India?  
(a) Unequal distribution of land     (b) Lack of fertile land  
(c) Gap between rich and the poor    (d) Increase in population 
35. In which of the following countries did poverty actually rise from 1981 to 2001? 
(a) Sub-Saharan Africa   (b) India    (c) China    (d) Russia 
36. The calorie requirement is higher in the rural areas because:  
(a) they do not enjoy as much as people in the urban areas.  (b) food items are expensive.  
(c) they are engaged in mental work.     (d) people are engaged in physical labour. 
37. Which of the following is an indicator of poverty in India?  
(a) Income level   (b) Illiteracy level  (c) Employment level    (d) All of these 
38. Which of the following is not a valid reason for the poverty alleviation programme in India?  
(a) Lack of proper implementation    (b) Lack of right targeting  
(c) Corruption at the highest level    (d) Overlapping of schemes 
39. Which industry suffered the most during colonial period?  
(a) Jute     (b) Textile  (c) Indigo    (d) All the above 
40. Which one from the following states is above the national average of poverty ratio? 
(a) West Bengal   (b) Tamil Nadu   (c) Andhra Pradesh   (d) Karnataka 

SHORT ANSWER TYPE QUESTIONS (3 MARKS) 
1. Explain how poverty begets more poverty? 
Ans. Poverty begets more poverty. It is both a cause as well as consequence of poverty. A poor country cannot 
save much out of its national income. As a result, it suffers from capital deficiency which adversely affects the 
level of production and income in the country. 
2. Explain the concepts of : (a) Social exclusion  (b) Vulnerability 
Ans. (a) Social Exclusion : According to this concept, poverty must be seen in terms of the poor who have to live 
only in a poor surroundings with other poor people. Poor people are excluded from better surroundings with 
better-off people. For example, in India people belonging to certain castes are excluded from equal 
opportunities. 
(b) Vulnerability : There is a greater possibility of remaining poor in case of certain communities (such as 
members of a backward classes, widows, physically handicapped persons). These groups of people face greater 
risks at the time of natural disasters (earthquakes, tsunami). Thus vulnerability describes the greater possibility 
of being adversely affected in comparison of other people in odd times. 
3. Suggest some measures to reduce regional poverty? 
Ans. Measures to reduce regional poverty: Several states of India like Orissa, Bihar, Madhya Pradesh, Uttar 
Pradesh, Nagaland, etc., are economically very poor. To remove this regional poverty the following measures 
may be suggested: 
(a) More Central assistance and grants should be given to backward states. 
(b) Special concessions may be given for investments in backward areas. 

(c) Public sector enterprises should be set up in backward states. 
4. Discuss any three measures to reduce poverty in India?  
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Ans.  More Industrialisation: In order to remove poverty and unemployment, especially in cities, more and 
more industries are to be set up. 
 Improvement in Agriculture: While latest methods should be adopted in improving agriculture, steps should 
also be taken so that land is provided to the tiller and it is not concentrated in the hands of few rich farmers and landlords. 

 Education: Education is must for removing any evil, including poverty and unemployment. 
It must be made cheaper so that every person could get it easily. 
5. Discuss any three government programmes for poverty alleviation?  
Ans. 1. Prime Minister's Rojgar Yojana (PMRY) : These schemes have been started for the welfare of the 
educated unemployed in urban areas. Youth belonging to the weaker sections of society are given priority. 
2. Employment Assurance Scheme (EAS) : These were launched in 1999 to create wage employment to families 
below poverty line and to improve the quality of life in the rural areas. 
3. Jawahar Gram Samridhi Yojana (JGSY) : The objective of this programme is to generate gainful employment 
for the unemployed and underemployed men and women in rural areas, community and social assets are 
created such as soil conservation work. 
6. Mention any three features of the National Rural Employment Guarantee Act, 2005? 
Ans. National Rural Employment Guarantee Act, 2005 was passed in September 2005 with the following features:- 
(i) It provides 100-days assured employment every year to every rural household with the reservation for one-
third of the proposed jobs for women. 
(ii) The central government will establish a National Employment Guarantee Fund for Women and state 
governments will establish State Employment Guarantee Funds for implementation of the scheme. 
(iii) If an applicant is not provided employment within 15 days, he/she will get daily unemployment allowance. 
7. What are the main causes of poverty in India?  
Ans. Main causes of poverty in India are:- 
(i) Huge income inequalities make it difficult for the government policies to implement properly for poverty 
elimination. Therefore income inequality is a major cause of poverty in India. 
(ii) Exploitation of traditional Indian handicrafts and textile industries by British colonial administration is 
another major cause of poverty. 
(iii) In order to fulfill social obligations and observe religious ceremonies, the poor spend a lot of money. Poor 
people borrow money for different reasons and become the victims of indebtedness. 
8. Explain three ways in which poverty can be estimated in India? 
Ans. While determining the poverty line in India, a minimum level of food requirement, clothing, footwear, fuel 
and light, educational and medical requirement etc. are determined for subsistence. 
 (i) The calorie requirement depending upon the age, sex, area and type of work is the way of estimating poverty. Average 

calorie requirement in India is 2400 per person per day in rural areas and 2100 per person per day in urban areas. 
(ii) Monetary expenditure per capita needed is also a way of estimating poverty. In the year 2000, poverty line 
for a person was fixed at Rs 328 per month for the rural areas and Rs 454 for the urban areas. 
(iii) A uniform standard for poverty line is also used, which is given by international organisations like World 
Bank. This is equivalent of $ 1 per person per day. 
9. Explain the principal measures taken in Punjab, Kerala and Andhra Pradesh to reduce poverty? 
Ans. (i) The principal measures taken in Punjab to reduce poverty is increasing the agricultural growth rates. 
(ii) Kerala focused more on human resource development to reduce poverty. 
(iii) Andhra Pradesh focused on public distribution of foodgrains to reduce poverty. 
10. Give one positive and one negative side of poverty conditions in India, and mention the major weaknesses 
of poverty alleviation programmes? 
Ans. Positive aspect:- 
(i) India's economic growth is one of the fastest in the world which helps in reducing poverty. 
Negative aspect:- 
 (i) Large number of poors lives in villages and dependent upon agriculture where growth is much below expectation. 

Weakness of Poverty alleviation programme :- 
(i) Lack of proper implementation and right targeting with lots of over lapping schemes. 

LONG ANSWER TYPE QUESTIONS (5 MARKS) 
1. What are the main features of poverty in India? 
Ans. Features of Poverty in India: Following are the main features of poverty in India. 
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(i) Declining Trend: The proportion of people below poverty line in India had variations. Poverty ratio increased 
during the decade of the 1970s. It decreased sharply during the decade of the 1980s. During the decade of 
1990s, there was first a rise following the period of economic reforms and then a fall in the incidence of poverty. 
Since 1993-94, the total number of the poor shows a declining trend. 
(ii) Inter-State Variations: Poverty is not equally distributed through the country. A recent study shows that 
more than 90 per cent of India’s rural poor live in the states of Andhra Pradesh, Orissa, Bihar, Madhya Pradesh, 
Karnataka, Maharashtra, Rajasthan, Tamil Nadu, Uttar Pradesh and West Bengal. Further, 50 per cent of India’s 
rural poor live in three states (namely, Bihar, Madhya Pradesh and Uttar Pradesh). As against this, the poverty 
ratio in the states of Jammu and Kashmir, Gujarat, Kerala, Punjab and Haryana is quite low. 
(iii) Nature of Poverty: Poverty is visible both in our rural and urban areas. The rural poor consist of people of 
low castes and tribal groups. The major group of the poor include landless agricultural labourers, small and 
marginal farmers, rural artisans, etc. In the urban sector, the poor include largely unemployed, underemployed 
or persons employed in low productivity occupations such as rickshawpullers, cobblers, and street vendors. 
2. Describe in brief the important poverty alleviation programmes undertaken by the Government of India? 
Ans. Poverty Alleviation Programmes of India: The important poverty alleviation programmes which are in 
operation in rural and urban areas are : 
(i) Prime Minister Rojgar Yojana (PMRY): PMRY was launched on 2 October 1993. The aim of this programme is 
to create self-employment opportunities for educated youth in rural areas and small towns. They are helped in 
setting up small business and industries. 
(ii) Swarna Jayanti Gram Swarojgar Yojana (SGSY) : SGSY was launched on 1 April, 1999. It aims at promoting 
enterprises at the village level. It helps the rural people to organise themselves into self-help groups. The 
objective of SGSY is to bring the existing poor families above the poverty line by providing them income 
generation assets through a mix of bank credit and government subsidy. 
(iii) Pradhan Mantri Gramodaya Yojana (PMGY) : PMGY was introduced in 2000. Its objective is to focus on 
village level development in five critical areas, that is, primary health, primary education, rural shelter, rural 
drinking water and rural roads. As a result of this, the quality of life of rural people will improve. 
(iv) Sampoorna Grameen Rojgar Yojana (SGRY) : This programme was launched in September 2001. The 
objectives of this scheme are :  
 (a) to provide wage employment along with food security in the rural areas. 
(b) to create durable community, social and economic assets. 
The ongoing Employment Assurance Scheme and JGSY would be merged with SGRY. 
(v) National Rural Employment Guarantee Act (NREGA) : NREGA was passed in September 2005. The Act 
provides for 100-days assured employment to every rural household in 200 districts. Later, the scheme will be 
extended to 600 districts. However, the results of these programmes have not been very effective. One of the 
major reasons for their less effectiveness is the lack of proper implementation and right targeting. Also, there 
has been overlapping of schemes. Therefore, the major emphasis in recent years is on their proper monitoring. 
3. How can poverty be reduced in future in India? Suggest any four points? 
Ans. Poverty can be reduced in the following ways:- 
(i) Increasing empowerment of women and the economically weaker sections of society. 
(ii) Fostering the economic growth.   (iii) Increasing the stress on universal free elementary education. 

(iv) Caste and gender discrimination to be avoided. (v) Improving health care, education and job security. 
(vi) Removing inequality of wealth among people. 
4. Mention the two planks on which the current anti-poverty strategy of the government is based. Why the 
poverty alleviation was programmes not successful in most parts of India?  
Ans. The current anti-poverty strategy of the government is based broadly on two planks: 
(i) Promotion of economic growth. 
(ii) Targeted anti-poverty programmes. The results of poverty alleviation programmes have been mixed. The 
major reasons for less effectiveness are :- 
(i) Lack of proper implementation and right targeting. 
(ii) Overlapping of a number of schemes. They lack proper monitoring and therefore the benefits of these 
schemes do not fully reach out to the deserving poor. 
5. NREGA 2005 is an important anti-poverty programme? Explain.  
Ans. NREGA stands for National Rural Employment Guarantee Act, 2005. Following things were included in the scheme: 

(i) It aims at providing 100-days assured employment every year to every rural household. 
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(ii) It initially started for 200 districts but later on extended to 600 districts. 
(iii) One-third of the proposed jobs were reserved for women. 
(iv) The Central government established National Employment Guarantee Funds and state government 
established State Employment Guarantee Funds for implementation of the scheme. 
(v) If an applicant is not provided employment within fifteen days he/she will be entitled to a daily 
unemployment allowance. 
6. Give brief account of inter-state disparities of poverty in India? 
Ans.  Proportion of poor people is not the same in every state. 
a. In 20 states and union territories, the poverty ratio is less than national average. 
b. In the states of Orissa, Bihar, Assam, Tripura and Uttar Pradesh poverty percentage is more than 35. So 

poverty is serious problem in these states. Along with rural poverty, urban poverty is also high in these states. 
c. While in the states like Kerala, Jammu and Kashmir, Tamil Nadu, Andhra Pradesh there is significant decline 

in poverty. 
d.  States like Punjab and Haryana have succeeded in reducing poverty with the help of high agricultural growth rates. 

e.  In West Bengal, land reform measures have helped in reducing poverty. 

HOTS 
1. What is meant by 'vulnerability' to poverty? Which economic categories are more vulnerable to poverty in India?  
Ans. Vulnerability to poverty: It is a measure which describes the greater probability of certain communities or 
individuals (such as widow or a physically handicapped person) of becoming or remaining poor in coming years. 
 Economic categories more vulnerable to poverty in India: Schedule tribes, urban casual labourers, rural 
agriculture labourers, scheduled castes are major economic groups, which are more vulnerable to poverty. 
Among these, scheduled tribes contribute to 51% of poverty in India which average Indian poverty ratio is 26. 
2. Social exclusion can be both a cause as well as consequence of poverty? Explain. 
Ans. Social exclusion can be seen in the terms of poors who have to live only in a poor surrounding with other 
poor people. Poor people are excluded from better surroundings with better-off people. For example, in India 
people belonging to certain lower castes (i.e., Scheduled Castes) are excluded from equal opportunities. Poor 
people of certain castes have to live in a separate locality and are excluded from mixing with better-off people. 
Due to such discrimination These people are deprived of better employment and growth opportunities. Social 
exclusion thus lead to poverty and can cause more damage than having a very low income. 
3. Who are the most vulnerable as far as poverty is concerned? How have the states of West Bengal, Punjab 
and Tamil Nadu tackled poverty?  
Ans. The most vulnerable groups to poverty are: 
(i) Scheduled Castes and Scheduled Tribes (ii) Rural agricultural labour 
(iii) Urban casual labour.    
States tackled poverty in the following ways:- 
i. West Bengal:- Land reform measures have helped in reducing poverty. 
ii. Punjab:- Reduce poverty with high growth rates of agriculture. 
iii. Tamil Nadu:- Public distribution of food grains has reduced the poverty. 
Value based questions: 
1. Why do different countries use different poverty lines? 
2. ‘‘In poor families all suffer but some suffer more than others.’’ Explain.  
3. ‘‘There is a strong link between economic growth and poverty reduction.’’ Explain. 
4. How is the illiteracy responsible for Poverty in India? Explain.  
 
KEY OF MULTIPLE CHOICE QUESTIONS (1 MARK) 
1. (b), 2. (d), 3. (d), 4. (b), 5. (a), 6. (d), 7. (c), 8. (a), 9. (d), 10. (b),11. (c),12. (c),13. (d), 14. (c), 
15. (d), 16. (d), 17. (d), 18. (a),19. (b), 20. (c), 21. (b), 22.(c), 23. (b), 24. (b), 25. (a), 26. (a), 27. (d) 
28. (c), 29. (c), 30. (a), 31. (d), 32. (d), 33. (b), 34. (b), 35.(a), 36. (d), 37. (d), 38. (c), 39. (a), 40. (a) 
 
 

CHAPTER: 4. FOOD SECURITY IN INDIA 
CONCEPTS 
  Food security: Food security means availability, accessibility and affordability of food to all people at all times. 
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 Why food security is necessary? The poorest section of the society remains food insecure all the times. People above 
poverty line might also feel food insecure in times of natural calamity like earthquake, drought, flood, tsunami, etc. 

 Food-insecure: In rural areas, the worst affected people are: landless and small farmers, traditional artisans (weavers, 
potters, blacksmith etc.) providers of services (e.g. barbers, washermen etc), petty self-employed workers and 
destitutes. In the urban areas, persons employed in ill-paid occupations and casual labourers are food insecure. 

 Hunger. Hunger has chronic and seasonal dimensions. Poor people suffer from chronic hunger and are food insecure all 
the times. Seasonal hunger is caused by the seasonal nature of agricultural activities in rural areas. In urban areas, 
seasonal hunger occurs because of the casual type of work. Thus, seasonal hunger exists when people are unable to 
get work for the whole year. 

 Need for self-sufficiency in food grains. Our government since Independence realised the need to attain self-sufficiency 
in food grains because India experienced acute shortage of food grains after partition of the country in 1947. The need 
for self-sufficiency arises from the following : 
(a) to feed rising population   (b) to fight against droughts, floods, cyclone, etc.  
(c) to reduce import of food grains (d) to control prices of food grains. 

 Food Security System in India. Since the advent of the Green Revolution in the 1960s the country has avoided famine, 
even during adverse weather conditions. India has become self-sufficient in food grains during the last 30 years because 
of the variety of crops grown all over the country. Also, we have developed a food security system. 

 Buffer Stock. Buffer stock is the stock of food grains (wheat and rice) procured by the government through the Food 
Corporation of India (FCI). The FCI purchases wheat and rice for the government from the farmers of surplus states at 
pre-announced prices. This price is called ‘minimum support price’. 

 Public Distribution System (PDS) PDS refers to a system through which the food procured by the FCI is distributed 
among the poor through government regulated ration shops. The consumers are issued ration cards. 

 Types of Ration Cards in India. There are three kinds of ration cards : (a) Antyodaya cards for the poorest of the poor, 
(b) BPL cards for those below poverty line and, (c) APL cards for those above poverty line. 

 Three Important Food Intervention Programmes. In the wake of high incidence of poverty levels in mid-1970s, three 
important food Intervention programmes were introduced: 
(a) Public Distribution System (in existence earlier ) (b) Integrated Child Development Services (ICDS) in 1975 
(c) Food for work in 1977-78. 
In 2000, two special schemes were launched viz. Antyodaya Anna Yojana (AAY) and the Annapurna scheme (APS) with 
special target groups of the poorest of the poor and indigent senior citizens, respectively. 

 Excessive Food Stocks: In July 2002, the stock of wheat and rice with FCI was 63 million tonnes which was much more 
than the minimum buffer norms of 24.3 million tonnes. The stock reduced thereafter but always remained higher than 
the buffer norms. 

 Paradox of Excess Stocks and Starvation. In fact, India has experienced a paradoxical situation in recent years. While 
the granaries (godowns) of the government are overflowing with excess stocks of food, we also find people without 
food. The main reason for this unfortunate situation is that many poor families do not have enough money or income to 
buy food. 

 MULTIPLE CHOICE QUESTIONS (1 MARK) 
1.The most affected groups in rural areas facing food insecurity are: 
(a) landless people   (b) traditional artisans   (c) beggars   (d) all the above 
2. MSP is stand for: 
(a) Minimum Support Price  (b) Maximum Support Price  (c) Marginal Support Price (d) None of these 
3. Green Revolution of 1960s was associated with: 
(a) use of HYV seeds   (b) tree plantation programme  (c) fisheries development (d) None of these  
4. P D S is associated with: 
(a) fair price shops   (b) cooperative stores   (c) super bazars  (d) none of the above 
5. Revamped Public Distribution System provides benefits to: 
(a) cities   (b) remote and backward areas   (c) self-help groups     (d) cooperative societies 
6. White Revolution of the country is associated to: 
(a) sugar   (b) milk     (c) paper   (d) none of the above 
7. Annapurna Scheme fulfills the food requirements of: 
(a) indigent senior citizens  (b) children   (c) pregnant ladies   (d) young persons 
8. Antyodaya cards are related to 
(a) all poors   (b) poorest of the poor   (c) persons below poverty line  (d) none of the above 
9. Antyodaya Anna Yojana and Annapurna Scheme are linked with : 
(a) Public distribution system  (b) mid-day meal  (c) special nutrition programme (d) none of the above 
10. Under the Public Distribution System foodgrains given per family per month is: 
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(a) 40 kg   (b) 35 kg    (c) 25 kg    (d) 20 kg 
11. In which state more than 90% ration shops are run by cooperatives 
(a) Andhra Pradesh  (b) Tamil Nadu    (c) Orissa    (d) Bihar 
12. The society which facilitated setting up of grain banks in different regions is : 
(a) Amul (Gujarat)        (b) Academy of Development Science (Maharashtra)   
(c) Mother Dairy (Delhi)    (d) None of the above 
13.  NREGA provides:  
(a) 200-days of assured work  (b) 100-days of assured work  (c) No assured work  (d) None of the above 
14. Minimum Support Price is announced by the government to provide : 
(a) incentives to farmers for raising production  (b) incentives to traders to earn maximum profit from farmers 
(c) incentives to moneylenders to lend maximum to farmers    (d) none of the above 
15. Seasonal hunger mostly found in: 
(a) urban areas    (b) rural areas    (c) metro cities   (d) both (a) and (b) 
16.In which crop largest increase in production as a result of Green Revolution? 
(a) wheat    (b) rice     (c) maize   (d) none of the above 
17. Main purpose of buffer stock is : 
(a) to save food grains from pest attack    (b) to stop price fluctuations  
(c) to meet the crisis of low production    (d) both (b) and (c) 
18. Who is the nodal officer at district level? 
(a) Commissioner   (b) Superintendent of police  (c) District officer  (d) Collector 
19.What is Food security means: 
(a) availability of food   (b) accessibility of food  (c) affordability of food  (d) all the above 
20. Massive starvation takes place due to: 
(a) rise in the price of essential commodities   (b) decline in production of foodgrains  
(c) drought      (d) both (a) and (b) 
21. Chronic hunger refers to : 
(a) low income (b) inadequate quantity of food (c) inadequate quality of food (d) all the above 
22. The most devastating famine occurred in India in 1943 in :  
(a) Assam    (b) Bengal   (c) Bihar   (d) Orissa 
23. In which of the following states do we find the largest number of food insecure people? 
(a) Bihar, Jharkhand and Orissa     (b) Bihar, Jharkhand and Gujarat 
(c) Bihar, Madhya Pradesh and Tamilnadu   (d) Bihar, Chhattisgarh and Karnataka 
24. In which state of India, Amul Dairy is situated?  
(a) Rajasthan    (b) Gujarat   (c) Karnataka   (d) Bihar 
25. Who released a special stamp entitled ‘Wheat Revolution’ in July 1968? 
(a) Mahatma Gandhi   (b) Indira Gandhi  (c) Jawaharlal Nehru  (d) Motilal Nehru 
26. The price that is announced before the sowing season is called:  
(a) Issue price    (b) Fair price   (c) Market price  (d) Minimum support price 
27. To whom the yellow card is issued?  
(a) To shop keeper   (b) To land lord's (c) To government employee  (d) People below the poverty line 

28. Which are the special target groups in Antyodaya Anna Yojana?  
(a) Poorest of the poor   (b) Poor and non-poor  (c) Backward class  (d) None of these 
29. Food for Work Programme was launched in which of the following years? 
(a) 2003 (b) 2001 (c) 2004 (d) 2005 
30. Kalahandi is situated in which of the following states?  
(a) Orissa (b) Punjab (c) Rajasthan (d) Bihar 
31. The Mother Dairy is an important cooperative in ___________ . 
(a) Gujarat (b) Punjab (c) Haryana (d) Delhi 
32. Women and children under the age of five are food insecure population due to : 
(a) Malnutrition (b) Healthy diet (c) Fats (d) None of the above 
33. F.C.I. stands for  
(a) Foreign Co-operation with India (b) Food Corporation of India 
(c) Fossils Corporation of India (d) Food Coming to India 
34. Which among the following schemes was started in the year 2000 for the indigent senior citizens? 
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(a) PDS (b) NFWP (c) SGSY (d) APS 
35. Name the cooperative that provides milk and vegetables controlled rate decided by the Government of 
Delhi:  
(a) Amul (b) Kendriya Bhandar (c) Mother Dairy (d) None of these 
36. Which among the following schemes was initiated for the poor in all areas?  
(a) TPDS (b) RPDS (c) AAY (d) All of these 
37. Buffer stock is the stock of foodgrains procured by the government through 
(a) IFCI (b) FCI (c) IDBI (d) FICCI 
38. In which part of the country, grain banks have been set up by NGO's?  
(a) Gujarat (b) Haryana (c) Punjab (d) Maharashtra 
39. When was the Antyodaya Anna Yojana scheme launched?  
(a) In Jan 1999 (b) In May 2000 (c) In Dec 2000 (d) In October 2005 
40. Percentage of seasonal as well as chronic hunger in India over the years has 
(a) increased (b) decreased (c) remained constant (d) None of these  
SHORT ANSWER TYPE QUESTIONS (3 MARKS) 
1.What are the essentials of food security system? 
Ans. Essentials of Food Security System are the following: 
1. Increasing domestic production of food to meet its growing demand 
2. Food should be available in adequate quantity as well as to meet nutritional requirements 
3. Food should be available at reasonable prices 
4. Buffer stock of food should be maintained 
2. Why is there need for self-sufficiency in food grains in India? 
Ans. Need for self-sufficiency in foodgrains arises from the following: 
(i)   to feed growing population 
(ii)  to fight against any natural calamity 
(iii) to reduce import of foodgrains 
(iv) to control prices of foodgrains 
3. How cooperatives are helpful in food security?  
Ans. Role of cooperatives in providing food security: 
In many parts of India, the cooperative societies set up their own cooperatives to supply different items at 
cheaper rates. Following are the examples: 
(i) In Tamil Nadu 94% of ration shops are run by cooperatives. 
(ii) In Delhi, the Mother Dairy is supplying milk and milk products like butter, ghee etc. to the people at much 
subsidised rates. 
(iii) In Gujarat, Amul is doing the same job of supplying milk and milk products to people at much cheaper rates. 
It is being run by cooperatives. It has brought 'White Revolution' in India. 
4. Why is food security essential? How food security is affected during disaster? 
Ans. Need of food security: The poorest section of the society might be food-insecure most of the times, while 
persons above poverty lines might also be food insecure when the country faces national disaster. Due to 
natural calamity, say drought, total production of foodgrain decreases. It creates a shortage of food in affected 
areas. Due to shortage of food, the prices go up. At higher prices, some people cannot buy food. So food 
security is essential.  
5. State three dimensions of food security?  
Ans. Three dimensions of food security: 
(i) Availability of food: There should be enough stocks of food items in the country through good production, 
through imports or previous year's stock stored in government godowns. 
(ii) Accessibility of food: Food should be within the reach of everybody. 
(iii) Affordability of food: The prices of different food articles should be such that every individual is able to buy 
them. The foodgrain items should be within the reach of the people. 
6. Why has Public Distribution System been criticised? Explain any three reasons. 
Ans. (i) Market ineffectiveness of PDS : Average consumption of PDS grain at all India level is only 1 kg per 
person per month. Average consumption figure in the states of Bihar, Orissa and Uttar Pradesh is only 300 gms, 
while in states like Kerala, Karnataka, Tamil Nadu this figure is 3-4 kg per person per month. As a result, the poor 
has to depend on markets rather than ration shops. 
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(ii) With the introduction of three types of cards and three different prices for the same articles to the different 
people, the whole system of Public Distribution System has become much complicated. 
(iii) PDS dealers malpractices: The ration shop dealers resort to malpractices. They divert the grains to the open 
market to get a better margin. 
7. What is the difference between chronic and seasonal hunger? Write any two. 
Ans. Chronic Hunger: When diet is inadequate in terms of quantity or quality, it is called chronic hunger. Usually 
poor people suffer from chronic hunger because of their low income and as a result their inability to buy food 
even for their survival. This type of hunger is more or less of a permanent nature and presents throughout the 
year. 
Seasonal Hunger: Seasonal hunger persists only during a particular period of the season. It is linked with the 
cycles of food growing and harvesting. In rural areas, the seasonal hunger is prevalent because of the seasonal 
nature of agricultural activities. The gap between the sowing season and the reaping season is marked by 
seasonal hunger. 
8. What steps have been taken by the Government of India to provide food security to the poor? Explain any 
three.  
Ans. To provide food security to the poor following steps have been taken by the Government of India:  
(i) PDS:- Public Distribution System (PDS) was established for the distribution of food grains among poors. 
(ii) ICDS:- Integrated Child Development Services were launched in 1975 to ensure nutrition among children of 
backward area. 
(iii) FFW:- ‘Food for work’ was introduced in 1977-78 to provide employment opportunities for poors to ensure 
food security for them. 
9. Why is buffer stock created by the government? Give any three reasons? 
Ans. Buffer stock is created due to following reasons:- 
(i) To distribute food grains in deficit areas. 
(ii) To distribute food grains among the poorer strata of society at prices lower than market price. 
(iii) To resolve the problem of shortage of food during adverse weather conditions or during the periods of 
calamity.  
Q.10.What are the major functions of the Food Corporation of India? 
Ans. The Food Corporation of India (FCI) has the following major functions:- 
(i) FCI purchases wheat and rice from the farmers in states where there is surplus production. 
(ii) They announce Minimum Support Price (MSP) on which government buy the surplus from the farmers. 
(iii) They keep the record and maintain the buffer stock.  
 LONG ANSWER TYPE QUESTIONS (5 MARKS) 
Q.1.What is the difference between PDS and TPDS? 
Ans. Difference between PDS and TPDS: 

 The food procured by the FCI is distributed through fair price shops among the poor. This is called public 
distribution system. There was no discrimination between the poor and non poor under PDS.  

 Under the TPDS, the government has announced separate issue prices for people below poverty line (BPL) and 
for above poverty line (APL) families. In December 2000, two special schemes were launched to make the TPDS 
more focused and targeted towards the poor.  

 These were Antyodayo Anna Yojana (AAY) and the Annapurna Scheme (APS). The two schemes were linked with 
TPDS. Under the AAY, poor families were identified by the respective state rural development boards. 

 Twenty-five kilograms of foodgrains were made available to each eligible family at highly subsidised rate of Rs 2 
per kg for wheat and Rs 3 per kg for rice.  

 This quantity has been raised from 25 to 35 kg with effect from April 2002. 
Q.2. Explain briefly the measures undertaken by the government to increase the production and supply of 
foodgrains? 
Ans. Government's measures to increase the production and supply of foodgrains 
Main steps undertaken by the government in this regard are as follows : 
(i) Land Reform Measures: Our government introduced several land reform measures soon after independence 
to increase domestic production of foodgrains. These measures included (i) abolition of intermediaries to 
transfer land to the actual tiller (ii) tenancy reforms to regulate rents paid by the tenants to the landlords (iii) 
imposition of ceiling on landholdings to procure surplus land for distribution among the landless. 
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(ii) Provision of Institutional Credit. To provide cheap and adequate agricultural finance many institutional 
credit agencies were set up. The expansions of institutional credit to farmers were made especially through 
cooperatives and commercial banks. As a result, the importance of village moneylenders, who used to exploit 
the farmers by charging high rates of interest, has drastically declined. Initially, only four percent of the total 
agricultural credit was advanced by cooperatives and commercial banks in 1950-51. Now their percentage share 
rose to 89 percent in 2004-05.  
(iii) New Agricultural Strategy. New agricultural strategy was introduced which resulted in the Green 
Revolution, especially in the production of wheat and rice. Total production of foodgrain has increased from 
50.8 million tonnes in 1950-51 to 212.0 million tonnes in 2003-04. 
Q.3. Point out the major defects of India’s food security system? 
Ans. Defects of India’s Food Security System: 
The major flaws/drawbacks of food security system in India are as follows: 
(i) Limited Benefit to the Poor. The poor has not benefited much from the PDS. They have depended to a great 
extent on the open market for most of the commodities. Ration cards are issued only to those households who 
have proper residential addresses. Hence, a large number of homeless poor could not be covered under the 
PDS. 
(ii) Leakages from PDS. Another defect of PDS relates to the problem of leakages of goods from PDS to open 
market. The shopkeepers who are running ration shops sell ration in the open market at higher prices instead of 
selling to ration card-holders at subsidised prices. 
(iii) Increase in Prices. The PDS has also failed to protect the poor against price rise. There have been frequent 
increases in procurement and issue prices. Moreover, excessive buffer stocks of foodgrains has reduced its 
quantity available in the open market. This has also put an upward pressure on the market prices of food grains. 
(iv) Rising Burden of Food Subsidy. PDS is highly subsidised in India. This has put a huge fiscal burden on the 
government. For example, food subsidy burden has risen from Rs 602 crore in 1980-81 to Rs 25,800 crore in 
2003-04. 
Q.4.Describe four main advantages of the Public Distribution System in India ? 
Ans. The main advantages of Public Distribution System are :- 
(i) It is the most effective instrument of government policy over the years in stabilising prices and making food 
available to consumers at affordable prices. 
(ii) It averts widespread hunger and famine by supplying food from surplus regions of the country to the deficit 
ones. 
(iii) It revises the prices of food grains in favour of poor household. 
(iv) The declaration of minimum support price and procurement has contributed to an increase in food grains 
production and provided income security to farmers in certain regions. 
Q.5. Describe Public Distribution System (PDS) is the most important step taken by the Government of India 
towards ensuring food security?  
Ans. In the beginning, the coverage of PDS was universal with no discrimination between poor and non-poor. 
Then later on the policy was made more targeted. 

Important Features of PDS 

Name of Scheme Year of 
introduction 

Coverage target group Full name 

    PDS upto 1992 Universal Public Distribution System 

RDPS 1992 Backward block Revamped Public Distribution 
System 

TDPS 1997 Poor and noon poor Targeted Public Distribution 
system 

AAY 2000 Poorest of the poor Antyodaya Anna Yojana 

APS 2000 Indigent senior citizen Anna Purana yojana 

HOTS 
Q.1. What are the problems of the functioning of ration shops?  
Ans. There are various problem of the functioning of ration shops such as; 
1. Ration cards are issued only to those people who have their proper residential addresses. Hence a large 
number of homeless poor fail to get ration from these shops. 
2. The owners of these shops sell ration in the open market at higher prices. 
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3. Sometimes shopkeepers make bogus entries in the ration cards. 
Q.2. Which are the people more prone to food insecurity? Explain? 
Ans. The people worst affected by food insecurity in India are landless labourers, traditional artisans, providers 
of traditional services and destitutes including beggars. In the urban areas, the food insecure people are those 
whose working members are generally employed in ill-paid occupations and casual labour market. These 
workers are largely engaged in seasonal activities and are paid very low wages that just ensure bare survival. 
Q.3.Which are the people more prone to food insecurity?  
Ans. People more prone to food insecurity are: 
(i) Landless and small farmers 
(ii) Traditional artisans 
(iii) Providers of traditional services 
(iv) Petty self-employed persons and 
(v) Beggars 
Q.4. What has our government done to provide food security for the poor? Discuss any two schemes 
launched by the government? 
Ans. Our government has undertaken a number of measures to provide food security for the poor. 
A brief account of these measures is given below : 
1. Maintenance of Buffer Stock. Our government maintains buffer stock of foodgrains through Food 
Corporation of India. The FCI purchases wheat and rice from the farmers in surplus states and stores in 
granaries. 
2. Public Distribution System (PDS). The food procured by the FCI is distributed among the poor through ration 
shops. Presently, there are about 4.6 lakh ration shops in the country. 
3. Nutritional Programmes. In order to provide nutritional security, our government has launched various 
schemes. Mid-day meal scheme for schoolchildren, scheme for supply of foodgrains to scheduled 
castes/scheduled tribes and special nutrition programmes for pregnant/nursing mothers are examples of such 
schemes. In 2000, two special schemes were launched. One, Antyodaya Anna Yojana and second, the 
Annapurna Schemes. The former relate to the poorest of the poor, while the latter targets indigent senior 
citizens. The functioning of these two schemes was linked with the PDS. Under AAY scheme, thirty-five 
kilograms of foodgrains are made available to each eligible family at a rate of Rs. 2 per kg for wheat and Rs. 3 
per kg for rice. Under APS, 10 kilograms of food grains is made available to eligible persons free of cost. 
 
Value based questions  
1. Discuss the role of government in the stabilisation of food grain prices? 
2. Explain how Green Revolution helped India to be self-sufficient in food grain production? 
3. Describe any four points your awareness about National Food for Work Programme? 
4. Describe briefly the measures adopted to achieve self-sufficiency in foodgrains since Independence? 
MULTIPLE CHOICE QUESTIONS Key  
1. (d), 2(a), 3(a), 4 (a), 5. (b), 6. (b), 7. (a), 8. (b), 9. (a), 10. (b), 11. (b), 12. (b), 13. (b), 14. (a) ,15. (b),16. (a), 17. 
(d), 18. (d), 19. (d), 20. (c),21. (d), 22. (b), 23. (a), 24. (b), 25. (b), 26. (d), 27. (d), 28. (a), 29. (c), 30. (a), 31. (d), 
32. (a), 33. (b), 34. (d), 35. (c), 36. (d), 37. (b), 38. (d), 39. (c), 40. (b) 
 

Model Test Paper-1 (Solved) S.A. II 
TIME : 3 hours                                                   Maximum Marks : 90 

 
Instructions  
Q. No. 1 to 10 are MCQs ( 1mark for each question) 
Q. No. 11 to 23 are short answer questions write in 60-80 words ( 3 marks for each question) 
Q. No. 24 to 30 are long are questions write in 100-125 words ( 5 marks for each question) 
Q. No. 31-1 and 31-2 are map questions. Please  attach the map inside the answer book   
Q.1 Till the eighteenth century the shape of the cricket bat was in the shape of hockey stick. Choose the correct reason  :  

a)  The ground was uneven.      b)  The ball was bowled underarm along the ground.  
c)  There was no limit on the shape and the size of the bat.  d)  It was easy to play in open ground. 

Q.2 Which combination was suggested by the Rabindra Nath Tagore for India's national dress?  
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(a) Elements of Hindu and Muslim Dress.    (b) Elements of Hindu and Parsi Dress.  
(c) Elements of Muslim and European Dress.    (d) Elements of European and Hindu Dress.  

Q.3 Why is cricket match different from other sports? Choose the correct answer.  

a) The match can go on for five days and still end in a draw.               (b)The playing time is an hour and half.  
c)The dimension of the playing area is specified.                                   (d)The game gets completed in nine innings. 

Q.4 The red cap introduced by Jacobin Club symbolized : 

(a)Liberty     (b)Equality   (C)Broken Chain     (d)Fraternity  

Q.5 Which one of the following types of forests is found in the Ganga-Bramputra Delta?  

a) Thorny forest    b)Montane forest   (c) Mangrove forest d)Tropical Rain forest 

  

Q.6 Which one of the following provides an ideal habitat for the animal 'Yak'?  

a) Sunderbans          b)Swampy and marshy lands of Assam  
b) Rann of Kutch          d)Freezing high altitudes of Ladakh  

Q.7 Which of the following statements is against the democratic process of elections?  
 

a) Parties and candidates should be free to contest elections.  
b) Elections must be held regularly immediately after the term is over.  
c) The right to vote should be given to the selected people only.  
d) Elections should be conducted in a free and fair manner.  

Q. 8 Which one of the following is a violation of the right to life or personal liberty?  

a) The arrested person was informed about the reason of his arrest.  
b) He was produced before the court within 24 hours of his arrest.  
c) He was not allowed to consult his lawyer. 
d) He was shown the warrant before arrest.  

 Q.9 Which one of the following rights is available to the citizens of India and not to the citizens of Saudi Arabia?  

a) The country is ruled by a hereditary king.      b)Citizens cannot form political parties.  
c)Women are subjected to many public restrictions.     d)Citizens enjoy the freedom of religion.  

Q.10 Which one of the following is not considered as a social indicator of poverty?  

a) Illiteracy level.         b)Lack of access of health care.  
C)Inadequate safe drinking water.       d)Ample job opportunities. 
Ans.  b)    

Answer (MCQ): 1. (a) 2. (a) 3. (a) 4. (c) 5. (d) 6. (c) 7. (c) 8. (d)  9. (c) 10. b) 
Q.11 What is shifting cultivation? Why did the European foresters discourage the practice of shifting cultivation? 

(i) In shifting cultivation, parts of the forest are cut and burnt in rotation. Seeds are sown in the ashes. Such plots are 
cultivated for a couple of years and then left follow to regain fertility. 
ii. Europeans discouraged practice of shifting cultivation: 
a. Considered the practice harmful for the forests.  
b. Lands used for shifting cultivation could not be used to grow trees for railway timber.  
c. Danger of the flames spreading and burning valuable timber.  
d. Difficulty in the calculation of taxes. 

OR 
How did the Pastoralists cope with the changes in the modern world? 

  Ans. Pastoralists coped with the changes by the following ways. 
1. Reduced the number of cattle.  2.   Moved to new pasture lands. 
3. Became agriculturalist.   4.   Became traders. 

OR 
 Explain the impact of introduction of machines in agriculture on poor farmers. 

  Ans. Impact of introduction of machine in agriculture on poor farmers- 
1. It brought misery to poor farmers. 2.    They came under debt.  3.   They had to leave their farms.  

Q.12 What was the main objective of Sumptuary laws? Mention any two restrictions imposed under these laws. 

Ans. Objective of Sumptuary laws was to control the behaviour of those considered social inferiors. Restrictions. 
1. Preventing them from wearing certain clothes.  2.  Consuming certain foods & beverages.  
3. Hunting game in certain areas.  

Q.13 How is the climate of India governed by the atmospheric conditions? Explain with three suitable examples. 

i. Pressure and surface winds.  Ii.  Upper air circulation.  
Ans: Western cyclonic disturbances and tropical cyclones.  

a. Development of low and high pressure during different seasons and the consequent development and pattern of 
wind movements.  

b. Development and the position of Jet stream during different seasons.  
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c. Inflow of western disturbances during winters and the development of tropical cyclones over the seas. Explanation 
of each point. 

Q.14 Describe any three features of advancing monsoon season. 

1. June to September is the period of advancing monsoon.  2.    Development of monsoon low pressure trough.  
3. Formation of south west monsoon winds.    4.    Distribution of rainfull across the country.  
5. Breaks in monsoon.      6.    Known for uncertainties.  

Q.15 In which region are the tropical thorny forests and shrubs found in India? Mention any four characteristics of such 

type of vegetation.  
 Ans. Thorn forests and scrubs are found in the north western part of India including semi-arid areas of   
        Gujarat, Rajasthan, Madhya Pradesh, Chhattisgarh, Uttar Pradesh and Haryana. 

1. Found in regions with less than 70cm of rainfall  
2. Trees are scattered and have long roots penetrating deep into soil to get moisture.  
3. Stems are succulent to conserve water.  
4. Leaves are thick and small to minimise evaporation. 

Q.16 Explain three main processes of change of population in India. 

Ans.  i) Birth Rateis the number of live births per thousand persons in a year. It is a major component growth of population. In India birth 
rates have always been higher than death rates. 
(ii) Death Rateis the number of deaths per thousand persons in a year. Rapid decline in death rate is themain cause of 

rapid growth in population rapidly. Since 1981 birth rate has also started declining resulting in a gradual decline in the rate 

of population growth.   
(iii) Migrationis the movement of people across regions and territories. Migration can be internal orinternational. 

Internal migration does not change the size of the population within the nation. Migration plays a very significant role in 

changing the composition and distribution of population. 

Q.17 How does the Election Commission of India regulate campaigns of political parties and candidates to ensure fair 

and equal chances to compete? 

Ans. According to our election commission laws no party or candidate can:  
1. Bribe or threaten voters     2.   Appeal to voters in the name of caste or religion  
3. Use government resources for election campaign ; 4.   Spend not more than 25 lakhs in a constituency for Lok 

Sabha election or 10 lakhs in a constituency in an assembly election.  

Q.18 What are 'Reserved Constituencies'? Why was the system of reserved constituencies introduced in India? 

Ans. Reserved Constituencies:  
1. Some constituencies are reserved for people who belong to the Scheduled Castes (SC) and Scheduled Tribes (ST). In 

these constituencies, only someone who belongs to these categories can contest election.  
2. Arguments for introduction of Reserved Contituencies  
3. The Constitution makers were worried that in an open electoral competition, certain weaker sections may not stand 

a good chance to get elected to Lok Sabha and the State Legislative Assemblies.  
4. They may not have the required resources, education and contacts to contest and win elections against others.  

5. If the reservation is not done, our Parliament and Assemblies would be deprived of the voice of a significant section 
of our population. 

Q.19 Explain any three powers of the Prime Minister of India as Head of the State. 

Ans. Powers of the Prime Minister as Head of the State.The Prime minister:  
1. Chairs cabinet meetings.     2    Coordinates the work of different departments.  
3. Exercises general supervision of different ministries.  4.   Distributes and redistributes work to the ministers.  

5. Has the power to dismiss ministers.    6    His/her decisions are final in case of disagreement  
between the departments.  

Q.20 Explain with examples how the poverty line is estimated in India? 

The poverty line is estimated in India.  
The common method used to estimate poverty line in India is based on income or consumption method. 
Income Method - For the year 2000, the poverty line for a person was fixed at Rs 328 per month for the rural areas 
and Rs. 454 for the urban areas. 
Consumption Method - The accepted average calorie requirement in India is 2400 calories per person per day in 
rural areas and 2100 calories per person per day in urban areas. 

Q.21 Explain any three causes for the widespread poverty in India. 

Causes for the widespread poverty in India:  
1. Low level of economic development under colonial rule. 2.    Less job opportunities  
3. Low growth rate of income.    4.    High growth rate of population.  
5. Low per capital income  
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Q.22 Describe the three dimensions of food security. 

Food security has following dimensions:-  
1. Availability of food means food production within the country, food imports and the previous year’s stock stored 

in government granaries.  
2. Accessibility means food is within reach of every person  
3. Affordability implies that an individual has enough money to buy sufficient, safe and nutritious food to meet one's 

dietary needs.  
Any other relevant point  

Q.23 Explain any five ideas of Detach Brandis for management of forests in India during British period. 

Ans. Five Ideas of Dietrich Brandis for Management of forest in India  Training people in the science of conservation  
Framing rules about the use of forest resources   Restriction on felling of trees 
Restriction on grazing     Preservation of forest for timber production  

OR 
Why are Maasais of Africa continuously losing their grazing grounds? Explain any five reasons. 
The main reasons for the continuous loss of grazing lands of Maasais: 

1. Europeon imperial powers scrambled for territorial possessions in Africa, slicing up the region into different colonies.  
2. Maasai land was divided into British Kenya and German Tanganyika.  
3. The best grazing lands were gradually taken over by white settlements and Maasais were pushed into a small area.  
4. The Maasais lost about 60 percent of their pre-coloical lands.  
5. They were confined to an arid zone with uncertain rainfall and poor pastures.  
6. Large areas of grazing land were turned into game reserves.  

OR 
How did the Enclosure Movement benefit Britain. Explain any fine benefits. 
1. Grain production grew as quickly as population.  
2. Landlords sliced up pasture lands, carved up open fields, cut up forest commons, took over marshes, and turned 

larger areas into agricultural fields.  
3. Enclosures were seen as necessity to make long term investments on land.  
4. Planned crop rotation to improve their soil  
5. It also allowed the rich landowners to expand the land under their control and produce more for the markets.  

Q.24 Explain any five reasons for increase in deforestation under colonial rule. 

Five reasons for increase in deforestation under the colonial rule:  
1. Increase in demand for food.   2.    Forests were considered unproductive by the colonial rulers.  
3. Increase in need for raw materials for industrial production.   4.    Spread of railways  
5. Development of plantation  

OR 
What was the impact of the colonial policies on the life of the pastoralists. Explain any five. 
Impact of the colonial policies on the life of Pastoralists- 
1. Loss of grazing land.    2.    Loss of cattle.  
3. Decline in the quality pastures.   4.    Shortage of forage for animals.  
5. Death of cattle 

OR 
Why were the peasants not willing to grow opium in their fields? 
The Peasants were not willing to grow opium in their fields. 
1. The crop had to be grown on their best lands.   2.    Many cultivators owned no land.  
3. The rents charged on good lands near village were very high. 4.    Growing of opium was a difficult process.  
5. The price given by government was low.  

Q.25 The Battle of Waterloo was won on the playing field of Eton". Justify the statement with any five suitable arguments. 

Britain's military success was based on the values taught to school boys in its public schools.  
1. Eton was the most famous of these schools.  

2. The English boarding school was the institution that trained English boys for careers in the military, the 
civil service & the church.  

3. Men like Thomas Arnold, head master of the famous Rugby School and founder of the modern public school 
system, saw team support like cricket and rugby not just as outdoor play, but as an organised way of teaching 
English boys the discipline. 

4. It taught the English boys, the importance of codes of honour and the leadership qualities that helped then build 
and run the British Empire.  

OR 
"The introduction of western style clothing in the 19th century in India met with severe reactions in different ways". 
Support the statement with suitable arguments. 
Many Indians reacted differently by the introduction of western style clothing. 
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1. The wealthy Parsis of western India were among the first to adapt western style of clothing. Baggy trousers and 
the Phenta (or hat) were added to long colourless coats with boots and a walking stick to look like a gentleman.  

2. To some, western clothes were a sign of modernity and progress.  
3. There were others who were convinced that western culture would lead to a loss of traditional cultural identity. 

The use of western style clothes was taken as a sign of the world turning upside down.  

4. Some men resolved this dilemma by wearing western clothes without giving up their Indian ones.  

Q.26 Describe any five provisions made in the National Population Policy of 2000. 

Provisions made in the National Population Policy 2000  
1. Imparting compulsory school education upto 14 years of age.  
2. Reducing infant mortality rate to below 30 per 1000 live birth.  
3. Achieving universal immunisation of children against all vaccine preventable diseases.  
4. Raising marriage age for girls.  
5. Making family welfare a people centred programme.  

Q.27 Name the two houses of Parliament in India. Which of the two houses in more powerful? Justify your answer with 

any three suitable arguments. 
Two Houses of Parliament in India:  

Lok Sabha & Rajya Sabha and   Lok Sabha is more powerful.  
1. If both the houses disagree on an ordinary bill, the will of Lok Sabha will prevail in the joint session due to its larger number.  

2. Lok Sabha enjoys more powers in money matter. For example a money bill can only be introduced in Lok Sabha.  
3. Lok Sabha controls the Council of Ministers.  
4. Only Lok Sabha can pass the no confidence motion against the Council of Ministers.  

Q.28 "Rights are necessary for the very sustenance of a democracy". Give any five arguments to support the statement. 

Rights are necessary for the sustenance of democracy because:  
1. Every citizen must have the right to vote and the right to be elected.  
2. Every citizen should have the right to express his/her opinion.  
3. Citizens have the right to form political parties.  
4. Right to project minorities from the oppression of majority.  
5. Right to act as a check on misuse of government power. 

Q.29 Explain five important anti-poverty measures undertaken by the Government of India. 

Anti-Poverty Measures taken by teh Government of India.  
1. National Rural Employment Guarantee Act (NREGA) 2005 The Act provides 100 days assured employment every 

year to every rural household in 200 districts.  
2. National Food for Work Programme. (NFWP) 2004 was launched in 150 most backward districts of the country. It 

is open to all rural poor who are in need of wage employment.  
3. Prime Minister Rozgar Yogana (PMRY) 1993. The aim is to create self-employment opportunities for educated 

youth in rural areas and small towns.  
4. Rural Employment Generation Programme (REGP) 1995 The aim to is to create self-employment opportunities in rural areas.  

5. Swarnajayanti Gram Swarozgar Yogana (SGSY) 1999. It aims at bringing the poor families above poverty line by 
organizing them into self-help groups through bank credit and government subsidy.  

Q.30 What is buffer stock? Why is the buffer stock created by the government? 

Buffer stock is the stock of foodgrains and rice procured by the government through Food Corporation of India  
1. Buffer stock is created by the government :   2.   To distribute foodgrains in the deficit areas.  
3. To use among the poorer strata of society at a lower price.  
4. To resolve the problem of shortage of food during adverse weather conditions or during the periods of calamity.  

Q.31 a) Two features A and B are shown in the political outline map of India. Identify these features with the help of 

following information and write their correct names on the line marked on the map. 
A- Type of forest       B- The state having lowest sex-ratio 

  b) On the same map of India locate and label the following items with appropriate symbols: 

 1. Thiruvananthapuram   2. Corbett National Park 



 

 
161 

  
Ans. Q. 31 

a)  1. Evergreen forest  2. Haryana  

 

 

Model Test Paper-2 (Solved) S.A. II 
TIME : 3 hours                                                   Maximum Marks : 90 

 
Instructions  
Q. No. 1 to 10 are MCQs ( 1mark for each question) 
Q. No. 11 to 23 are short answer questions write in 60-80 words ( 3 marks for each question) 
Q. No. 24 to 30 are long are questions write in 100-125 words ( 5 marks for each question) 
Q. No. 31-1 and 31-2 are map questions. Please  attach the map inside the answer book   
 

Q.1 When were the first written ‘Laws  of Cricket’ drawn? 

 (a) 1774 (b) 1775 (c) 1776 (d) 1780  

or 

 Radical changes in women clothing were enabled by: 

(a) New times (b) Women’s movement (c) World  war (d) Industrial revolution 

Q2 When did Gandhiji adopt the short dhoti ,a form of dress and wore until his death ? 

(a) 1920 (b) 1923 (c) 1922 (d) 1921 

Q3 Why do trees grow faster in summer? 

 (a) Due to high temperature  (b) Due to longer duration of sunlight 

 (c) Due to low temperature  (d) None of these 

Q4 How many types of plants species are found in India? 

(a) About45,000 (b) About 40,000 (c) About47,000 (d) 20,000 

Q5 How many seats are reserved for the S.C.& S.T. in the Lok Sabha ? 

(a) 49, 79 (b) 50, 80 (c) 79, 49 (d) 49, 50  

Q6 How many Fundamental Rights are guaranteed to the citizens by our Constitution ? 

(a) 4 (b) 5 (c) 7 (d)6 

Q7 What is PIL? 

 (a) Public Interest Litigation (b) Public Information Litigation 

 (c) Public Interest Legislature (d) Private Interest Litigation 

Q8 What is average poverty ratio in India ? 

(a) 25% (b) 28% (c) 27% (d) 26% 

Q9 What are two components of food security system ? 

(a) Buffer stock, FCI (b)PDS ,FCI (c)Buffer stock, PDS (d)Buffer stock,  Issue Prise 

Q10 When was AAY  launched ? 

(a) 1990 (b) 1992 (c) 2001 (d) 2000 

Answer (MCQ): 1. (a) or (c) 2. (d) 3. (b) 4. (c) 5. (a) 6. (c) 7. (a) 8. (d) 9. (c) 10.(d) 

Q11- What is meant by the term deforestation? How are forests useful to us?    (3) 
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Ans:-The disappearance of forest area to full fill the demand of developing civilisations is known as deforestation. During 

the period of Colonialism, deforestation took a systematic approach towards industrial development. 

Forests provide bamboo, wood for fuel, grass, charcoal, packaging, fruits, flowers, animals, birds, the tannin used to convert 

skins and hides into leather, the herbs and roots used for medicinal purposes, gum, honey, coffee, tea, rubber, oil and many 

other things.      OR 

Why did the colonial government want to convert grazing lands into cultivable farms?    

Ans:-Land revenue was the main source of finance of the colonial government. By expanding cultivation it could increase its 

revenue collection. It would get more jute, cotton, wheat and other agricultural produce that was required in England. 

Uncultivated land appeared unproductive to the colonial officials as it produced neither revenue nor agricultural produce. It  

was seen as ‘waste land’ that needed to be brought under cultivation. 

OR 

Why did the whole region of the Great Plains become a dust bowl?       

Ans :-The Great Agrarian Depression started in 1930s which ruined the wheat farmers all around. The acts of these zealous 

farmers who, to expand the wheat cultivation, recklessly uprooted all vegetation. They turned the soil coverinto dust by using 

tractors. Their overzealous acts turned the whole regions of the Great Plains into dust bowl. 

Q12-The Battle of Waterloo was won on the playing fields of Eton.’ What does this mean?   (3) 

Ans:-This statement actually implies that Britain’s military success was based on the values taught to schoolboys in Britain’s 

best public school, the Eton.  

1) Men like Thomas Arnold, headmaster of the famous Rugby School and founder of the modern public school system in the 

19
th

 century, saw team sports like cricket and Rugby as an organised way of teaching  

2) English boys learnt discipline, the importance of hierarchy, the skills, the codes of honour and the leadership qualities that 

helped them build and run the British empire.  

3) Victorian empire builders justified the conquest of other countries as an act of unselfish social service, by which backward 

people were introduced to the civilising influence of British law and Western knowledge 

OR 

How did the British use their political control to improve their textile industry?    

Ans:-Political control helped the British to introduce cheap and fine mill made clothes in Indian market. Indian peasants 

could be forced to grow crops such as indigo. The coarser Indian clothes were easily made out of the market. As a result 

many weavers and spinners were rendered without work and important textile weaving centres such as Surat, Machilipatnam 

and Murshidabad declined. 

Q13-What are the six controlling elements of the climate of India?       (3) 

Ans:-India’s climate is  controlled by 

1 . Latitude      2. Altitude     3. Pressureandwinds     4. Distancefrom the sea    5.  Ocean currents      6.  Physiography 

Q14-Give three characteristics of monsoonal rainfall in India.       (3) 

Ans:-Characteristics of monsoon rainfall are :-  

i) Early in the season, the windward side of the Western Ghats receives heavy rainfall i.e. more than 250 cm.  

ii) The rain shadow areas of Deccan Plateaue and parts of Madhya Pradeshreceive scanty rainfall. The maximum rainfall is 

recorded in the north eastern part of the country.  

iii)The frequency and intensity of tropical depressions determine the amount and duration of monsoon rains. 

Q15-Why are forests important in our life? Write any six points.      (3) 

        Ans:-Forests play a vital role in the life of human beings by: 

       (i)Modifying local climate.           (ii)Controlling soil erosion. 

       (iii)Supporting a variety of industries.          (iv)Providing livelihood for many communities. 

       (v)Controlling wind and temperature and cause rainfall.           (vi)Providing humus to the soil and shelter to the wild life. 

Q16-What are the three special features of human resources of India?     (3) 

      Ans:-Three special features of human resources of Indiaare: 

        (i)The human resource of Indiais very large.  (ii)Its distribution is quite uneven.   (iii) It has been increasing very 

rapidly. 

Q17- What are the advantages of EVM?         (3) 

Ans:-Some of the advantages of Electronic Voting Machineare as follows:- 

 a. Used for voting b. Being fast and absolutely reliable     c. Saves considerable time, money and manpower.  

 d. Helps in maintaining total voting secrecy without the use of ballot papers.  

Q18-Write any three functions of the Election Commission of India?     (3) 

Ans:-The three functions of the Election Commission of India are as follows: 
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      • The Election Commission prepares, maintains and periodically updates the Electoral Roll, which shows that the person 

is entitled to vote. 

      •Organises the polling booths where voting takes place. 

      • Looks after the counting of votes and the declaration of results. 

Q19-What is the Parliamentary system of Government?       (3) 

Ans:-It is the government where the executive head of government is known as Prime Minister.She/he is the leader of the 

majority party in Legislature.Prime Minster and his Council of Ministersare answerable to the legislature. The head of the 

state may be the Monarch or the President.The President or the Monarch is ceremonial executive. The President has to act on 

the advice of the Council of Ministers. The Ministers are both responsible and responsive. For example:- India, U.K.,Canada 

and Italy. 

Q20-If you were the Prime Minister of India, what steps would you like to take to reduce poverty in India? (3) 

Ans:-If I were the Prime Minister of India, I would have emphasis on the following points to reduce poverty in India:- 

(i) Free education for all children    (ii) Empowerment of women 

(iii) Empowerment of weaker sections of the society  (iv) Population control 

(v) Proper implementation of anti-poverty programmes initiated by the government. 

Q21-Why poverty remains a challenge inspite of the anti-poverty programmes initiated by the government of India? (3) 

Ans:-Poverty remains a challenge in spite of the anti-poverty programmes initiated by the government of India because: 

      (i)Corruption in government administration 

      (ii) Neglect of the target group i.e, the poorare not considered during the formulation ofpolicies 

      (iii) The benefit of these schemes does not fully reach the targeted groups. 

      (iv) The shortage of resources (money) and lack of proper implementation of programmes 

Q22-Why do we need food security?         (3) 

Ans:-Food is the basic need of life and an important source of nutrition. Only healthypersons constitute human resources for 

development. Under-fed and ill-nourished persons cannot perform this role. Larger the number of under-fed and ill-nourished 

persons, greater is the burden that the country has to carry. Conversely, a well-nourished and food secure population is a 

valuable asset for a country’s development. 

Q23-What does a good forest meant to Indian villagers? How forest acts affected the lives of the villagers? (5) 

Ans:-Indian villagers considered forests with different species of trees valuable. Different varieties of trees were able to 

fulfill theirneeds like – fodder, fuel, medicine etc. 

The Forest Act brought severe hardship for villagers across the country. The act declared all their everyday practices – 

cutting wood for their houses, grazing their cattle, collecting fruits and roots, hunting and fishing, as illegal. People were now 

forced to steal wood from the forests and if caught, they were at the mercy of the forest guards who would take bribes from 

them. Women who collected fuel woods were especially worried. It was also common for police constables and forest guards 

to harass people by demanding free food from them. 

Q24-Railways brought about deforestation during the British rule. Explain.(5 Marks) 

Ans:- Essential for the colonial trade and for the movement of imperial troops. Railways were Wood was also required to run 

locomotive and for laying the railway tracks. As the Railway tracks spread, a larger number of trees were felled to meet up 

the growing demand of timber. The Government gave out contracts to individuals to supply the required quantity of timber. 

These contractors started random cutting of trees and this led to immediate disappearance of forests around the railway tracks. 

       OR 

Q23-State the difference between ‘Reserved’ and ‘Protected’ forests.     (5) 

Ans:-The terms ‘Reseved’ and ‘Protected’ forests were coined by the British Government during the colonial India. 

‘Reserved’ forests were those where access to pastoralists was totally denied. Actually, these forests produced commercially 

valuable timber like deodar or sal, which raised revenue for the colonial state. All other forests were classified as ‘Protected’ 

where pastoralists were granted customary grazing rights. However, here too their movements were severely restricted. 

Since grazing herds would trample over saplings and munch away the shoots, the colonial officials believed that grazing 

would destroy saplings and young shoots germinated on the forest floor. This would, in turn, prevent new trees from 

growing. Hence, they allowed pastoralists limited time and period for grazing their cattle. 

Q24-Describe how the pastoralists coped up with the changes imposed by the colonial government.  (5) 

Ans:-Indian pastoralists reacted to imposition by the colonial government in different ways. Some reduced the number of 

cattle in their herds, as there were not enough pastures to feed large numbers. Others discovered 

 new pastures when movement to old grazing grounds became difficult, for example, due to political boundaries between the 

newly formed India and Pakistan, the Raikas could no longer move into Sindh and graze their camels on the banks of the 

Indus. They have since been migrating to Haryana where sheep can graze on agricultural ields after the harvests are cut. 
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or 
What did the patriotic French citizens wear in France after the French Revolution?  
Q.13. ‘The climate of India is strongly influenced by monsoon winds.’ Comment.   (3) 
Q.14. Describe the characteristic features of the following types of natural vegetation.  (3) 
(i) Tropical rain forests (ii) Mangrove forests 
Q.15. Name three Indian medicinal plants and describe their uses.   (3) 
Q.16. Bring out the main features of the National Population Policy 2000.   (3) 
Q.17.Why is an independent and powerful judiciary considered essential for India?   (3) 
Q.18. Compare and contrast between the powers of the Lok Sabha and the Rajya Sabha.   (3) 
Q.19. What are the rights available to the minorities and women in Saudi Arabia? How are these different from the rights 
available to minorities and women in India?    (3) 
Q.20. Highlight the global poverty scenario.    (3) 
Q.21. Why is agriculture a seasonal activity? Give an example of a non-seasonal activity.   (3) 
Q.22. What are the problems in the functioning of ration shops?    (3) 
Q.24. Describe the livelihood, life cycle and and practices of the Dhangars pastoral community of Maharashtra. (5)  

or 
 Enclosures filled the pockets of landlords. But what happened to those who depended on the commons for their survival? 

or 
 How did forest rules affect cultivation in colonial India?  
Q.25. Give brief explanation for the following.  

or 
Explain the reasons for the changes in clothing patterns and materials in the 18

th
 century.  

Q.26. Mention the five major types of vegetation found in India. Describe any one of them.  (5) 
Q.27.Why is an independent and powerful judiciary considered essential for democracies? Discuss. (5)   
Q.28. Can we do without rights in a democracy? Give reasons.  
Q.29. Explain the limitations of anti-poverty measures in India. Mention two other measures for removal of poverty in India. (5)   
Q.30. Mention any four provisions for improving food security in India. What are the limitations of current food security measures? (5)   
Q.31.1. Two features 1 and 2 are marked on the given outline map of India. Identify these features with the help of 

following information and write their correct names on the lines marked in the map.   1x2=2 
(1) Meteorological station at Kerala (2) National park in Uttarakhand that is famous for tigers. 
Q.31.2. Locate and label the following places on the given outline political map of India:  1x2=2 
(a) Shilong – Meteorological station of North East India (b) Tropical Evergreen Forest 

 

 
 




